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0O0]
while J0 0000000000 do
(00O0O0o00o0)

while 000000000 A
000000000000 do

[VALUEO O] or [COSTO O] or
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[THRESHOLD OO | or
[TERMINATE O 0]
enddo
(000000 /0000000000)
[context;(d,z) OO
[ti(d,z) OO (ChildThresholdInvariant)]
[threshold; O O (ThresholdInvariant)]
[d; 0 0]
[ti(d,x) O O (Allocationlnvariant)]
0oo00]
(0DoO0ooo0)
[VALUE O O]
[COST O 0]
THRESHOLD 0 O]
[TERMINATE O O]

enddo

3.4 00001 —0O000OO0O0OOCOSTOOOOO

oooobooo

gobobbbbouoooooobbbbbbodoooooobbbbbodadao

gbobbuooobbogooobbooobobbuooobbbooobbooon
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3.4.2 0UU0OOOOO

0000 X CupperNeighbors;, X!] C children; 00000

Vd € D;,

e jEX) (x),dj)E zeXy
currentContext;

00000000000000 context’ 00

Uaen, ({(z;,d;) € currentContext;|x; € X}}

U | context(z,d))

1
z€X])

gobo
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gooboooooood

xj,di)|(x;,d;) € currentContext;, x; € upper Neighbors; }U
iy dj)|(z),d; tContext;, ; Neighb

ub
UdGDi,zechildreni contexti (‘T7 d)

gbooboboboobbuoobbuobooobboooboobaobood

0000000000 currentContext; 0000
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0000000000040
(COST,x;,currentContext;, contextl? context®® L B; U B;)

O00Ocontext? 00000000000 000O0O0ODODO COSTOOOOOO
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LB;=00000000000000000000000 450 context? 0000
Doobdbod; 0000000000000000000000 x,0 y00
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‘iD0D0DD0D00000000 currentContert 00 000 000 context! context?® 0000
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000 why(z,d) 00 0000000OCOCOOOOOO

if context, O currentContext; 0 0 0O 0O O
then
if context O (x;,d)000 then
d — (x;,d") € context DO O d
context?® 00 (x;,d)00 0.
endif
context?? O (z;,d) 00000000
d=d0000,
OOooobOobOvde D;,000O0O
if by > 1b;(d, zx) or (Iby = 1b;(d, xy)
and |context!?| < |context®(d, x},)|)
then
Ib;(d, x) < lby,
context®(d, x) «— contextt?
endif

endif

00 Ofcontext;(d,x)00]0000000000000 context®(d, )0 1b(d, )0
000 context®(d,z) 0 ubi(d,z) 000000 currentContext; 00000000

O000¢(d,2)0 Ib(d,2)0000000000000000000O0 context®(d,x)
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000000000000000000000000000000000000
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IRUODODO0000000000O0O0D000000000000000O00000
00 context?™(d,z), Ib/ub(d,z) 00000000000 000000000O0
00000000000000000000000000D0D0O0O0O0O000000
00000000000000000000000000000000000000
0000000000000000000000000000000 context®/
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00000000000000000000000000000000 context!® C
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vd € D;,
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xjeXL’i,ij IGX&’
currentContext;
Z fi,j(dvdj)—i_ Z lbl(dv'r) =
T €upperNeighbors;, x€Children

zjEcurrentContext;

5(dy+ Y Ibi(d,x) = LB(d)

zeChildren

000000000 LB; =mingep, LB(d) 000000000

) ;o "
:CJEXd,J)]E ZBGXd
currentContext;

O0Ocontext?0000000000000000O0DOOOOO0O currentContext;

Ooooodoo L, 00000
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X,,000000000000000 F,,0000000F,, 000000040
000d00000000 FOOOO context 0000000000000000
00 (d;, F,context) 0000000000 100000000000000000
040 LB(d)00000000000F,, 000 F,, 000000000000

goobod

6:(d;) = 0i(di, Fouy, context)+

8;(d;, Fuy, context)

Ib(di, x) = 1bi(d;, z, Foyy, context)+

lbi(d;, x, F,,, context)

LB;(d;) = LB(d;, F,,, context)+
LB;(d;, Fy,, context)
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00 00LB(dy, Fuy, currentContext;) < LBy(dg, Fyy, currentContext,) D00 O
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1000

—— normal

-3 shortcut
—A—scHlru

-X- sctHrutintegrate

avg. cycles
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num. of nodes

03200000 (0000=1,d=2)

100000

—— normal

-3 shortcut

—A— scHru

10000 | |~—>¢- sctlrutintegrate

avg. cycles

7 8 10 12 14 16 18 25

num. of nodes

033: 00000 (0000=1,d=3)
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031: 000000000000 (0000=1,d=2,00000000000)

nodes results cycles
< = > < = >
max min | max min | max min
normal (. normal)
710 25 0 175 16
8 0 25 0 146 13
10 0 25 0 93 14
121 0 25 0 323 17
141 0 25 0 275 17
6 0 25 0 236 19
18 0 25 O 357 27
25 0 25 O 1249 28
300 0 25 O 2120 36
401 0 25 0 5207 48
shortcut (. normal)
717 7 1| 138 35 66 16 54 54
81 8 17 0| 111 42 89 13
10 9 16 1 75 42 89 14 79 79
12 | 15 9 1] 253 22 80 17 98 98
14114 11 0] 211 24 113 17
16|11 13 1| 169 30 51 19 34 34
817 8 0| 239 27 33 27
25119 6 0| 611 35 60 28
30 | 21 4 0| 839 37 88 36
40122 1 2| 871 46 48 48 79 63
sc+lru (. shortcut)
7111 14 0] 130 38 65 16
8| 7 17 1| 100 34 74 13 69 69
01 6 19 0 73 41 89 14
12 8 16 1| 227 69 105 17| 115 115
14 7T 16 2| 171 79 143 17| 132 127
6| 6 19 0] 156 30| 117 19
18| 8 14 3| 213 28 96 27| 161 138
25| 8 17 0| 508 54 66 28
3011 11 3| 706 47| 101 36| 274 60
40 4 15 6| 818 301 118 48 | 468 48
scHlru—+integrate (. sc+lru)
7|15 8§ 2] 112 35 56 16 41 36
8] 8 16 1 86 32 74 13 39 39
10 5 18 2 71 42 56 14 92 71
12 | 13 9 3| 174 21 o1 17 | 127 66
14 113 10 2| 148 26 82 17 | 146 82
16 | 16 9 0] 134 23 70 19
18|12 10 3| 168 30 53 27 | 126 30
25019 9 7| 250 28 63 30| 541 30
30|14 6 5| 580 46 67 36| 220 40
40116 5 4| 660 52 63 48 | 106 57
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032 000000000000 ((MCO0O00=1d=3,00000000000)

nodes| results cycles
< = > < = >
max min | max min |max min
normal (. normal)
71025 0 2316 2316
81 025 0 1332 445
100 025 0O 1996 81
121 025 0 3636 210
141 0 25 0 7143 417
16/ 0 25 0 11199 191
181 025 0 19769 272
251 025 0 111535 6130
shortcut (. normal)
7125 0 0| 1481 1481
8125 0 0| 967 298
10125 0 0| 1132 45
12125 0 0| 2116 160
14125 0 0| 3346 286
16(25 0 0] 8128 100
18(25 0 0] 9611 130
2525 0 0]62820 2818
sc+lru (. shortcut)
7125 0 0| 1207 1207
8123 0 2| 725 260 351 328
10123 1 1| 835 142 45 45| 182 182
12124 0 1| 1418 123 661 661
14125 0 0| 2396 200
16|25 0 0] 5662 96
18|23 0 2| 7991 317 1548 131
25(25 0 0]41010 2013
sctHIru+tintegrate (. sc+lru)
7125 0 0| 719 719
8126 0 0| 433 197
10124 1 0| 467 107 45 45
12125 0 0| 933 111
14|25 0 0| 1196 177
16|25 0 0] 3064 91
18124 0 1| 4771 121 482 482
25125 0 0(25319 1162
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{10,20,40,80,100} 00 0000000000000 0OO 37000000000
gogobbbobbodoooooobbobobboooooobobbobboooog
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gobbooooon
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O normal

50 Oshortcut ]
E scHlru

40 0 sctlrutintegrate

N
o

avg. messages per cycle
w
o
T

u—y
o

7 8 10 12 14 16 18 25

num. of nodes

034 0000000000000D0 (DO000O=1,d=3)

10000
——normal
[~ shortcut
—A—sctlru /
2 1000 -X- sctlrutintegrate
)
>
(&)
]
®
100 o —

7 8 10 12 14 16 18 25 30 40
num. of nodes

03500000 (0000={1,---,10},d=2)
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100000
—o— normal
--{- shortcut
—A—sctlru
» 10000 — -X- sctlrutintegrate
3
>
(6]
© C
1000 —
K—m e VAREEEE V% ,——""X’
100 ! ‘ ! ! ! |
7 8 10 12 14 16 18 25

num. of nodes

0 36: 00000 ((OCO0O0O={1,---,10},d=3)

033 000000 (0000 1e)

weight of 1 1...10
constraint

d 2 3 2 3

cycle
normal 3606 | 8645435 | 55839 | 22302935
shortcut 1372 | 3453270 | 7976 | 10884349
sc+lru 1210 | 1757614 | 5001 | 1856625
sc+lru+int. | 970 | 560947 | 2114 260599
messages per cycle

normal 13
shortcut 17

sc+lru 20
sc+1ru+int. 25
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100000

Onone
O MaxLength=10
B MaxLength=20 3
B MaxLength=40

8 10000 O MaxLength=60

_g B MaxLength=80

© B MaxLength=100 -

%’ _

1000 H

100

10

12
num. of nodes

14 16 18 25

0 3.7 0000000000000000 (sc+lru+integrate, 0 0 0 O =1,d=3)

100000

10000

—
o
o
o

avg. cycles

—&— normal(d=2)
--<&--normal-THRESHOLD(d=2)
—A— scHrutint(d=2)

-4 - scHru+int—-THRESHOLD(d=2)
—@ normal(d=3)

--[3-- normal-THRESHOLD(d=3)
—@— scHrutint(d=3)

- © - scHrutint-THRESHOLD(d=3) | _g-=="

8 10 12 14

16 18 25 30 40

num. of nodes

038 000000000000 (0000=1,d=2,3)
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OOob0oboobOoboooooooboOobOVALUEODDODOOOOOOoooooo
ooocCcoSTOODOOOOUOODOODOOOOODOOO (25-A)000000CO
O00boOOoboOoCcoSTUOOOOOO context0 0000 THRESHOLDOOOO
U0 context U0 D OUOO0OOODOOOOOOO0OODOOO0OOO 38000000
gogobbobobbougoooobobbobbooooooobbobobobooogo
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3.7.5 MPIOUOOOOOOO

0o00o0ooobooobooooboooobooobo MPIDOODDOOO
oo ouoouoououooooouoooooo
oo odoooouoooooouoooooooo
OMPIDODOOODDODOODODOODODODOOOODDOOOOODDOOOOODODOOO
O0ooooooooooooo{L,---,104,d=3000000000000000
oo l1odooooooou oooooooooouoooooooodgo
000000000 Intel Xeon 1.8GHz(HyperThreading),512MB 0O O O ,100Mbps
Ethernet, Windows2000,MPICH1.2.500001000000000000000O3
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0 34: MPIOOOODOO0O0000 [ms)(0000={1,---,10},d=3)

num. method 1 4 speed
of nodes processor | processors | up rate
8 normal 2670 1841 1.5
shortcut 2934 1769 1.7

sc+l1ru 960 625 1.5
sc+Iru+int. 488 278 1.8

12 normal 10366 5245 2.0
shortcut 11083 5047 2.2

sc+lru 3380 1684 2.0
sc+l1ru+int. 1425 570 2.5

16 normal 22860 10208 2.2
shortcut 20789 9144 2.3

sc+lru 6603 3227 2.0
sc+1ru+int. 3174 1450 2.2

20 normal 128135 56606 2.3
shortcut 81791 30958 2.6

sc+l1ru 30674 13208 2.3
sc+1ru+int. 12086 5041 2.4

24 normal 88595 38206 2.3
shortcut 65573 25033 2.6

sc+lru 22491 9511 2.4
sc+1ru+int. 11128 4089 2.7

32 normal 895219 343636 2.6
shortcut 303739 107809 2.8
sc+l1ru 144059 53377 2.7
sc+Iru+int. 104459 35062 3.0




54 0O 30 O00OO0O0OO0OO0DLOODOODObOObDOObO0ObO0ObOoODbO

1000000

—o— normal

--[- shortcut

100000 | |—A—scHru . /
@ -X- sctlrutintegrate
Y]
>
(6]
= 10000
S
<)
>
©
1000
/

100 | | | | | |
7 8 10 12 14 16 18 20 24 25 32
num. of nodes

039 MPIODOOOOODOOODOODOOOOO (DooO={1,---,10},d=3,10)

035 000000 MPIDO,0000={1---10},d=3,0000 16)
method 1 4

Processor | processors

cycle
normal 20074778
shortcut 2649430
sc+lru 119562
sc+Iru+int. 208107

execution time

normal 8272406 89895
shortcut 2340838 66134
sc+lru 128600 5802

sc+Iru+int. 158003 38753
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method | n T
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043: 0000000000O00O0O0O0OC0OO
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30/2.6] 23] 1.9/ 14
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3015.3] 5.1| 4.8] 4.5
40| 8.3] 8.1] 7.8] 7.6
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4.71 0OU00O0OOOOOOODOOOO
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10000 000000000 470 d=20000000 p00ps00000000
0000000000000 000000000000000000000200
00000 pl,pd,ps 00000000000000 (optimal) 00000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0oOoooOoooooooon

0480d=300000000000000000000000000 A =
(Adpte™0000000000000000)/200000 (Delta = (UB —
LB)/2)0000000000000000000000000000000 threshold,
O000O000OAdpt00000000000000000O00000000
00O00OOthreshold, 100 0000000000000000000000
0000000480000000000000000000000000000
00 0000000000000000000000 (optimal) 00000000
0000000000000000007T=100000000000000000
0000000A=(WUB-LB)/200000p000 A=1000000000
000000pl,p200000000000000000000 threshold, 00O
00000000000000000000000. 000p20p5000A =1

gogbobbobobboouooooobbobbbooooooobbobboodaod

Adopt 00 00000000O0DODOOOODOOOO0OOOODDOOOOOOOOODODOOO
gbbooobooobooobooobooooooooOoooboooboooboobboobonog
gbobooboooooobooobobooooboobooooooobooobooooooooog
goooooboooobobooooobooooooo



4.7 00 7

000000000000000000000
0000 470 p0,pl,p200 480 p2,p3,p4A000A=1000000000
000000000000000000000000000000000000

goboboooobboboooobbbooo

4.7.2 0O0OO0OOOOOO

Oooooooooooboboboboboobooooooodn,d,T7o000Q
gooboboboob 1obboddddooooooobo wbbobobbbooood
gbobuooobobobtdedgogn

00000000000 (dyadpt) DO0DO0OD0O00O0300000 AdoptO OO
00000000000000 (dyadpt+) 000030 Adopt 000000000
gboubogbbobboboboobobbobbooboobogbooobad
OO00000000000000bO0b0ob0b0bOobuobOobDOoDog Adopt
OoooOo0o0ooo0oOoobooOooobOoOoooOoobbooDbboOo4CchOoOoOn

0000000000000 000O00DO00DO0O000d Adopt OO
000000 (nradpt) DOO0O0O0O00D0OO0O0O0O0OOOOOOOOOOOODOO
gbbogdgbboodgbbboobbboobbuooobbooobbooob

obhobogbooecobdbooboobuoobobbo414200000
gobboobobboogooobboobbbtbdooooobboobboooooad

O000000000000000 (dyadpt+)00d=200000 T =100000

00000300 370000 sc+lrutintegrate 1000 0000000000000 OO0O
gboooboooboobobbobooboboobobbobbooboon



78 040 0OOOO0OOOO0DOOOOOOOOOOObOO0ObO0bOo0ODbo

0440000 STS,TREEOODOOOO

n (d STS TREE
mean |min|max|mean|min|max
10|12 70| 41| 84| 28| 20| 43
3| 118] 61| 126| 37| 31| 49
20(2| 159 83| 168 77| 55| 106
3| 245|124 251] 108| 78| 142
30|12 244|124 251| 136|100| 197
3| 369|363 375 203|162| 255
4012 328/168| 333| 206|159| 276
3| 492|485| 499| 323|261 412

045 0000000,000000000000000

n|d STS STS+TREE
mean|min|max|mean|min|max
10|12 5 3 7 100 7] 14
3 5 3 6 12| 9 14
20(2 6| 3 9 15] 11} 20
3 5 3 7 18] 13| 23
30|12 6] 3 9 19] 14, 28
3 5 4 7 23] 18] 30
402 6| 4 9 23| 18| 30
3 5| 4 7 29] 24] 36
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O 46: 000000000

n |d depth
mean|min|max
102 75 9
3 8 6/ 10
202 11 8] 16
3 14) 9] 19
30|12 15| 10| 23
3 20| 15| 26
402 19] 13| 26
3 25| 20| 32

U4 7000000000000

d

n

T

500

1000

2000 | 5000

10
20
30
40

1527
6555
12709
18506

1527
7483
19407
30136

1527 1527
7465| 7465
25221| 30984
48397 71124

10
20
30
40

8437
15260
20463
25043

14046
33979
45071
55027

15583| 15583
72485(171373
97091|261780
118431|318143
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00000000 ¢dk000000000000 Tree;q 0000Tree; O

gooboooon

[ Ci,Fi,Nbri,Degf” : Stsi,clk gooood

Nds; : OO0 Q0O0Q0OOoogon

Deg; : DOUODOODOODOO

Rel;, : OO000OD0O0ODOOOOOOODOODODOOOOOO,000

NorY, Norl - 00, 00000000000

Chld; - 0DOOOOO0OO

parent; : 00000

N/ . poooooooooo

0D0000C;,F;,Nbr;,Deg" 00 000000000000000O0C;,F;,00
O Nbr, Nbrt,Chld;,0 parent; 0 N/ 0000000000 O0000O
00000000000 k0000 Tree;q, 00000000000 Sts; u,
00000000C;,F;,Nbr;,Deg” 0000000
00040 Tree,q, 000000000490000
ODO0O0O0Re;0000000000O0O0DOO0O0ODOOOOOO. 00000000
D00000000000000000000 44,0000 degi,deg; 000000

deg; > deg; DO OO0 jO00000000000,deg; =deg; DOOOOOOO
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[0O00]

Nds; «— ¢, Deg; «— ¢, Rel; — ¢,

Chld; — ¢, N/ — 0, (00DO0O0DOO).
[Stsiar, 0000000]

Nor; 0000 Nor, NorlOOooo.

if Norl = ¢ then N/ — N/ 4 1 endif
Nds; < Nds; U Nbr;, Deg; < Deg; U Degi™.
rel;; € Rel;, j € Nory OO OO relj; < relj; + 1.
[(TREE,parent;,Nds;,Deg;,Rel;, N!*/ ,clk;) 0 O]
D00000: rel;; = |[Nbrl|

000000: Nds;,Degi,Rel; 0 00

(Joddooodooogooon.

Nds; 0ODOO00ODOO0O parent; 00O 0.

O00: 5 € Nds;
[(TREE,parent;,Ndsg,Degg,Rely, N/ clk) 0 O ]
if i = parent;, then Chld; — Chld; U {k},

Nleaf . Nleof | N]ieaf.

rel, € Reljrely,, € Rel, 0000

relym < relym, + rel;,, endif

Nds; < Nds; U Ndsy, Deg; «— Deg; U Degy.

0 4.9: Tree;qp, 10000000000
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Ooobobobooobooboboboo0b00b0OUOb00OTREE DO ODOOOO
OOoo0dbDdk,0000000000D0ODO0OOO0OO0ODOO
gbob-.0000000000bboogb-.0000bbooobobobood
Oo0obO0obOooo0oob0obOobOo TREEODDODDOODODOODOooDoooboboo
0000000000 00000000000 rel;; € Rel, DOODOOODOOO
000000000D0:0000000000000000000 rel;; = |Nbr)

gbobboobooboobooboobobboboobooboobo

4.B AdoptUU000O0O0OO0OOOOOOO

4.B.1 0O0OOOODOO

O0000 Adpts 000000000000 4100000000000TERMINATE
oboobooobooboobD e 0b000boobooboobooboon
gboboboddgoepttgnoon

O00Apt:*00000000000000000000 4110000000

ooOgd

4.B.2 0O0O0O0O0OOO

Adpt; 4o 00000 Tree;, 00 00000000000000000000O
Tree,q; 10 0000000000000000 Adpte 0000000000

gobboobbooooobobbbbbuoooooobbobbboooood
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[(TERMINATE, -, &.0,0pt,clk,slt) 0 0]
O00000: AdoptO0O0O0O0O0DODOOO
AO00040o0o00oo
O00: x e Chld;
oogoon:

Adpthb — Adpt$"", Adpt{"" — Adpt; ar. st

[(TERMINATE,: - -, x,0t,0pt,clk,slt) O O]
(Adopt 0 TERMINATEO OO D)

Troot,opt 1 0 0O 00O

[(TRM_OK,clk, sit) O O]

O00000: AdoptOOO0O0O0OOoOOO
ArO00000o

000 2,00

000000: (TERMINATEDOOOOD)

0 4.10: AdptsODO0O0DOOOOO

[(TRM_OK,clk, sit) 0 O]

TRM OKOOODOOO
[(TRM_COMMIT,clk, sit) 0 O]
D00000: TRM_.COMMITOOOOO

V(00000 A TRM_OK O0ODO=N;)
000: z e Chld,

000O000: Adpte™ — Adpts™, Adpts*t 00 O
[(TRM_COMMIT,clk, sit) 0 0]
TRM_COMMIT O [
[(TRM_CANCEL,clk, sit) 0 0]
000000: TRM_.CANCELOOODOO

V(EOOODODADOOO dk;00000)
000: x € Chld,

000000: Adpts** 000
[(TRM_CANCEL,clk, sit) 0 0]
TRM_CANCEL O[O

0 411: Adptz** 0000000
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00000000000 VALUEDOODOOOOOOOOOO coSTOOOO0O
0000000000000000000 VALUEDOOOOOOOOOOO000O
0000000000000000COoSTOOOO0O00000000

000 i0 Adptiar., D000 TERMINATEOOOOOOODOOODOOO
Adpts™ = Adpt; s, Adpts™ = Adpt; sy 0000000000000000
00000O0sit >00000TRM.COMMITOOOOOOOOOOOOO0O
000000000000000000000000000000000000
oooo

00000000 Adpt* 0000000000000 Adpt* 0000000
O000000Adts 000000000000000000000 Adpte 00
000000000000000000000000000000000000
00000000000 0000000000000000
00000000000000000000000000000000
00000Adpt 0000 Tree;qr,, 10 00000000000000000
000000000000 Adpts 00000000000 000000 Adptst

O0O00000D000 AdpesO00O000O0O0DOOOOOODOOD

4.B.3 00000000 O0OOOO

VALUE, THRESHOLD, COST, TERMINATE 00000000000
k00000 sit00000Adptar00000000000000000000
00000 Adpte" 00 00000000000000000:00000 k00

00000 Tree; i, 0 Adpt 00 00000000000O0CODOOOO0OOO
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Adpte 100 00000000000000000O0TERM_OK/ COMMIT/
CANCEL 00 ck,sit00000,000000 Adps* 0000000000

goboboooogn

4.C OJUO000O0O0OOO

3000000000000 AdoptO0O(1)DO0O000ODODOO backjumping O
0000000000000 0000()U0DbODODO00D0DO0OOOOOoOooO
0,0000000000000000030000000000000000 (1)
OOooooocoSTOOOOOODOOObOOOOobDOOoOobDobOoOoooD cosTUoO
gogbobbbbbobouooooobbbbbuoooooobobbbbooooo
gogobboobobbouooooobbbbbouoooogbobbobooooo
gboogbboobboboboobuooboobbooobooboobobboo
0(1)0O0o0O00o00o00o0o000oo0o0o0o0ooo0ooooooooooooo

gobboooobbbooobobobooon
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s bbb tttdobd

Jooooobobobooood

L] [

5.1 0O0OOO

obooobo3bgo40b000boobboobboobboobbod
000000000 0000000 (pseudo-tree) 00000000 OODOOOO
00000 46 0000000000000000O0O0OOOODODOODOODODOO
oboobooobon

0000000000000 00000D000000O0 (pseudo-tree) 000 O
00000000000000000000000000000 [16] [46)000O
gobbbbbuoooooobobbbbooooooobbbbooooood
gbboboooobbboooobboboooobobuooobobbooogn

0000000000000 0OOD0ODODODODODOODO A*XODDDDODDODDOOOO
000000000000000 6000000000000 00DO0O0ooOO
gopobboobobbbooooooooobbooobbbooabobooooood

goobobboogobbobuoooobbbooonoon
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gogobobbobbbooddoooooobobobobobbboooboooooa
O000000000000000000 4546000 0000000000O0O0O
gogobobobobbouoogooobbbbbodoooooooboboooog
gobbbooooboboooobobbooooboon
gobobbbbuooooooobbbbboooooobobbbbbogoo
gogobboobobbouoooooobbbooooooobobbobooggg
gbooobbooboobboooboobobooobooboobbuooboon
gobobbobobboouooooobbbobbouoooobobbobobooaog
gobbooogbbbuoooobbbuogooboboooobo
0000000000000 0000 4600000000000 ODODODODO
gbbbogobbuooobboooobbuooobbooobbbuooobobn
gogoobobbobobbbbooooogoboooobboooouboougg
gobboooobbbuoooobbboooobbbuooooo
goboboos200b0bobbooooooobobbobbooaogs3bougg
goobbobbodoooooobobbobbboooooooobboobobboooga
gbobgoboogboobs40boboboobobooboboboobobon
gbobogobboogbboobboobbuoobobboobossubbog
gogooobbobobbbosetiooooooobobbbosrbbooogd

gobooo
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5.2 U0OUOOOOOOO

0000000000000000000000000000000000C0
00000000 (000000)000000000000000 ADOOOO
000i€A000 000000 ;002,000 D;004;00000000
0000000000000+ 0000000000
COOO00O000FO000000000000000000,,00000 50
00 2;02000¢,€cCO000000000¢,;000000000 f;;€F
000000000000 {(z,d),(z;,d;)}0000000000000000
00000000000000000000000000000000000C0
000000000000000000
00000000000000000FFOOO0O00000000000000
00000000000000000000000000000000000C0

gbobobooogoboobod

5.3 UUOUD —0UO0O0O0OO0OO0OO0OO0OOOOO0O

oo

5.3.1 UOOOOUOoooooon

00000000000 00000000000 (pseudo-tree) 00 OO OO0
gobbbobbbouodgoooooobbbbobbbbbbbouooooood

000000000 [39] [40] [41] [43] [44] [16] [46) 00 510000000000
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— tree edge
""" back edge

(a) constraint network (b) pseudo tree

0 5.1: 0000 pseudo tree

0000000000000 00000000000 (treeedge) 1000000
00 (back edge) 00000000000 DOO0OO 2, 000000000O0DOCOCO

gobobooooood
e P(z;): 0000, 000000000
e PP(z;): 000D 1, 00000DO0DO0ODODDOOO
e C(x;): 0000 200000000 OOOO
e PC(x;): 0000, 000000000O0ODOO

000, 0000000000000000000 0000000 P(x;)0
000000000 ;0000000000000 0W(x;)D0O00D0DO0O0OO

r;0O00O0O W(x,)DDODOODOOOOODODODOODOODOOOOOOOO
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5.3.2 UUUOUOOUOUOOOULUObbUbUogo

00000000000000000000000000000000000
000000000000 000000000000000000000000
0000000000000 00000000000000000000000
000000000000000000000000000000000000
000000000000 000000000000000000000000
00000000000()0000000000000000(R)000000
00000000000000000000000
O0000000000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000000000000000 [42)[45]0
0000000000000 200000000000000

(1)00D0O00o0

0000 000000 P(;)0000000 dpgey) € Dpey 000002;00
000000000000000 Util,,pe,y0000000000000000

gbobbuoooobbboooobbon

2 €C(x4)

(2)000000

OO0o0o0oooo0 obob 00000000 000000000000
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goboboooobbbooobobobooon

di = argming . p { fi p(e) (dis dpy) + Y Utily, 2, (di)} (5.2)

2, €C(z;)

gbogoboobooboobogbuodgboobooboobbooboo
goobbobobboooooooobbbbbooooogobboboboooog
gogbobbbbbotouoooobobbbbbouoooobobboboboouoo
O000000000000000 2000000000 Util,, pz,) 0 hyper-cube
O00000bO0bO0obO0o0ob0OobO0obOD0oDOOob0obobooooboooon brPOP
[46]0 000005200001

gogobobbobboouoooooooobobboobobo20bbbboodggod
gbogob2000b000b0b000bboboboobboobboooboon
gogobbobobbbouoooobobbbbbooooooobobbobboogog
goobobobobbooogogbbobbbboooooooobbobboooog
gboobbooboobboobgoboobobooboobbuooboon
gobobbobobbobouooooobbbbbouooooobboboboouog
gogobbobbboogooooboobbbodooooobboobboougg

gobo

00 [46)0000000000000000000O0DODOOD0000O0DOOO0000000
gboooooboooooboboooobooobooboboooboooboooo
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[Initialize]
agentview; < @;
if x; is a leaf node then
Utily, p(z,) < compute_Util();
send (UTIL, x;, Util,, p,)) to P(x;); endif
[UTIL_message_handler(UTIL, x, Util,, .,)]
store Utily, 4.;
if UTIL messages from all children was received
then
if x; is the root node then
df — choose_optimal();
send (VALUE, z;, {(z;,d})}) to all C(z;);
else Util,, p(s,) < compute_Util();
send (UTIL, x;, Util,, p(z,)) to P(x;);
endif endif
[VALUE_message_handler(VALUE, z;,,
agentview;)]
agentview; < agentviewy;
df < choose_optimal();
send (VALUE, z;, agentview; U {(z;,d})})
to all C'(z;);
[compute_Util()]
X = P(z;) U PP(z;)U
{ancestor nodes related by Vx, € C(x;), Util,, .},
Vd € ij eyﬁij,
Utily, p(a;)(d) < ming,ep { fi,p) (dis dpe))+
ijEPP(aci) fi,j (dw dmi) +
YapeC(as) Utile, 2, ((d, d;)) };
[choose_optimal()]
di — argming cp {fi P (di; d};(xi))*'
Ye,epp(an) fig(dis dy,) +
Y wreC(e) Utile, o, ((agentview;, d;)) };

0 52: DpOPOODODOOO
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54 U0OUO0O —0O00OO0O0O0OO0OO0OO0OOODOO0O

oo

5.4.1 0000000000000 0O0O0O0OOOLObOO0On
goad

gbotobdoboobdoobobbobuodobooboboobodobonobo
gbouodgbuodobuodgbugbuogboobooboobbobbobbobbo
gobbogobbogobbuooobboooobobuooobbooobobooon
O00000000000000000000000000 5.3(a)00 ;00 W(x)
040000000 2, 0000000000DOUTILOOOOOO hyper-cube
000000 W(x) 0300000000000 0O0O 2, 00000000000
O00000000O0O000O0OO0OO 53(0b)D0000O00O0 2, 0000000
uTiLogooogobobogooooboboobooBrToooobobobd =, 000
goobooon

gbobobobbooooooobbbbbobbobouoooobbbboboodgooo
00000000 wWOoOOooooooowW(z,)>WwWoooooooooooo
gbooboboobbooboobooboooboobbooboobbon
gobbobbbudgooooobbobbbuouooooobboboouoo
gbooboodgbooboobuodbooboobboobobooobboboboo
gboobbooboobbooboobobooboobboobooboon

00000540000000000000000000000000000 f
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W(xm)=0

xm=dm

W(xl)=1

o\
Z)

W(xk)=2

o)

W(xj)=3

xn)

(x1)
@)

(xn)

o
&)

®)

W(xh)=2
h

(a) (b) (c)
---» UTIL message propergation
—> BT message

gs3: 0buoaobooouooan
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[Intialize]
X P(x;) U PP(x;), X2 — ¢, f¥ « false;
if z; is a leaf node then
send (PRE, z;, X X!) to P(x;); endif
[PRE_message Handler(PRE, z;, X{", X!)]
Xall o Xty xell, X0 XPU X
if PRE message from all children was received
then
remove x; from X,
if z; in X! then
remove x; from X% f% « true; endif
while | X — X%| > W do (A)
X0 {xy|xy, € XM xy ¢ X2} enddo
send (PRE, z;, X X!) to P(x;);
endif

g s4: 000 —0O0OO0o0oobbObouoooobobogao

bbb 0D000obbbooogbbbuoooobobbbuoooobbodad
0x00000,0000000000000C(z;)UPC(z,)000000O0CO
000000000000000000 PClwest(z,) 00000000
OOooboOooboooob pbpOPOODOOOOODASOOODODOOOOODOO
U0, 00000000000000D000O00:00000004d;0BTOO
000000 PClwest(z,) 000 0000000000000 DOO0O0OODOOOO
gboobobb«0bo0boobuoo Brogooobooobooobg
U002, 0BTOOODOODOODOOOOOOagentview, 000000 OOO0O
ooobooobooooooBTOOOOOOODODOODLDOODOODOOOUTIL
gboboooobbbooobboooobbuoodgbi agentview; DO OO0

gobobbobboooogdidlagentriew; UOODDOODDOOO«000000O0
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[Initialize]
agentview; «— ¢; value_was_received «— false;
if f then d; < d € D;; else d; — *; endif
send (BT, z;, d;) to all PC'*%/(;);
[BT _message_handler(BT, z;, d;)]
if not value_was_received then
add (zj,d;) to agentview;; endif
maintain();
[UTIL_message_handler(UTIL, zy, agentviewy, Utily, 4, )]
if not value_was_received then
replace agentview; by agentviewy; endif
store (agentviewy, Utily, »,); maintain();
[VALUE_message_handler(VALUE, z;,
agentview;)]
agentview; < agentview;;
value_was_received «— true; maintain();
[maintain()]
forall stored (agentviewy, Util,, »,) do
if agentviewy, is incompatible with agentview;
then remove (agentviewy, Utily, 4,);

endif enddo
if UTIL messages from all children was received
then
if f* then
compute partial Utily, p(,,) for d;; (A)
if 3d € D, is not searched then
d; < such d;
send (BT, z;, d;) to all PC'%/ (z;);
endif endif

if value_was_received or x; is the root node
then d; <+ choose_optimal();
if f* then
send (BT, z;, d) to all PC'%/(z;); endif
send (VALUE, z;, agentview; U {(x;,d})})
to all C(x;);
else Util,, p(,,) < compute_Util(); (B)
send (UTIL, x;, Utily, p(z,)) to P(z;);
endif endif

0O 5.5 DPOPOOOOOOOODOOO (DPOP+BTI)
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000000000000 00«000000000000000000000O0
OO00000oDbOobooog

000000000 A000000 (agentviewy, Utily, ,,) 0000 Oagentviewy,
O agentview; 00000000000 (agentviewy, Util,, ,,) 000000000

U O agentview, U agentview;, D0 00000000000

YV, (zj, df) € agentviewy, (x;, d;) € agentview,

k_ k_ g
dj =*Vdj = d;

UoboDbooobO egentview; D0 DUOO0OO00DOO0O0O00OOOO0O0O00OOO0O
0000 ADOPT[16] 000000 current context D000 «000000O0O
gobobuoooobobogo

000000 compute Util() 000000000 choose_optimal() 00O
oooooooooobooogoogbpoOPOOOOOOODODOODOOO 2,000
ooooooooooooobobod, 000000z, 0000000000
02,0000 Utily, pey0000 2,0000000 D, ={d,} 0000000
gobooo

gbooobooobobobooob 2, 0000000OUTILOODOODOO
oooooooooooooodd,eD,0000000. 000000 5.5(A)
oooodod,00000 Uti,, pe,, 000000000000 5.5B)0000
vd e D, 000000000 Util,,, pe,,) D0000000OC0OCOCOCOOOO0O

Ooooooooo00dUtl,, pe,,)000000000000d, 000000

Tm)

gobooog



54. OOOD0O —0OO0O0OOOOO0OOOO0ODbLOODbOODbODD 101

5.4.2 UU0OOUOOOOOOOOO

gbbobbuoogobbbbbbuodoooooobbbobbboooooad
goobbbobobobboboudgooogoooobobbboobbboooodao
gobbobboooooooobobbbooooooobboobobboboooog
gobbbbbouoooobbbbbbuodoooooobbobbbboooood
gboogboobobbdodb20bugbogboboobooboobbbodd
oboboboobooboobgooboobobboboobooboobon

gobbobbboooooobbbobbodooooobobobbooood
gbooboooobbboooob 2000000000

(Hhooooooo W) OODODDOODODODODOOD 2, 00000000 2,
gboobobobuodobbooboobib ez, dbboobogbbuobbod
O0000000000000000000 W(z,)0OOOODOOODOOO0O ;00
00 z; € PC*(z)0002;0 2,000 BTOODOOODOOOOOODODOOO
gobbobbboooogbobobbbuooooooobobbobbooooood
gboboboooobobooad

(2)0D000D0D0DW(z;) DODODODOO0OD0OD0D ;000000 2,000
Oo0oodoodiez; 000000 2,0 BTOOOOOOOOOOOOOOO
0000z 0z, 0000000000000 O00O00O0000O0COC0O0O0000
gobbbbbuooooobobbbbodooooobbobooooood
goo

00000000 53(c)000000DO0000O0OO0OODOO0ODODOOOOOO

O0000000000000005410000000000000000 5.4(A)
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0|xe— XM >WOOOO X000000000000000000000
0000000000000 [X® - XM <« WDOO0O0OXY0O0000000
000000000000000000000:000000000000000
00005500000000000000000000000000000BT
0000000000000000000UTILOOO000000000000

gobbobodogdg.godoo

5.4.3 UUOULUOOOOOOO

gogobobobobbobooooobobobbboodoooooobboobooo
ggbbobbbuoooooobbbbboooooobobbbbboouoo
gogbobbbbbodoooooobbobbbooooooobobbooboouod
goobobobobbooooooobobobboooooobobobobbbbooooo
gogbobbbbbdoooooobbbobbbuoooooobobbobboouog
gbos410000000000DO0O0DODOOODOODODDbDODOODOO
gbgobobboobooboobooboob

gobobbobbouoooooobbbbbbuoooooobbbbboooo
gboboooobobuoboboobobu 000 d;bobooobooboboon

0000000 18] 0oooooooood

h(d;) = 2:( ‘){dg‘ggk{h(dk) + fri(dr, d;)) +
>. min fiy(di,dj)}} (5.3)

x;€PC(xy) dj€D;
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gosl:00000booogd

" 195150 | 100 | 200

n-1 6 7 9] 11
1.125n 9115 23| 44
1.25n 11118 32| 59
1.5n 12 122 43| 77

g s2.0000000004d

25 | 50 | 100 | 200

n-1 1] 1 1 1
1.125n 3 11
1.25n 41 6] 10| 20
1.5n 5|10 18| 33

0 53: 0000000 (DPOP)

195150 | 100 | 200

n-1 11 (14| 17| 20

1.125n 17129 | 46| -
1.25n 21136 | — -
1.5n 23 144 — -

O000ORd,)0000D00O0OCOOOOO0O0OO
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0 54: UTILOOOOOOOOOOODOOCODO (DPOP)

25 20 100 | 200

n-1 72 147 | 297 | 597
1.125n 157 607 | 6020 | -
1.25n 369 o147 | — -
1.5n 1458 | 235975 | -

5.5 UL

00000000000000000000000000 460000000
000000000000000000000000000000000000
000000000000000000000000000000000000
02000000000000000000000000000400 |D;]=30
000000000000000000000000000000 200000
0000000000000100100000000000000

0000000000000000000000000.,000000000
¢cOn—1,1.125n, 1.25n, 1.5n 0000 n, ¢c0000 100000000000

D000000000000000000000000000000000000

00000000000000000000000000000000000
00000000000000000000 (1)(2)000000000000(1)
000000000000000000000000000000000000
000000000000000000000000000000000000

O0000000000000000000O0 (200000000 ooOOooUoOo
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0 5.5 DPOPOOODOOOOOOOO(ODOODOOO=4)

n 25 50 100
c 1.5n | 1.25n | 1.125n
num. of cycles
DPOP 23 36 46

DPOP+BT1 | 102 344 322
DPOP+BT?2 41 115 126
total size of UTIL messages

DPOP 1458 | 5147 6020
DPOP+BT1 | 1854 | 7534 7134
DPOP+BT2 | 1612 | 5884 6757

0 5.6: DPOPOODODODOOOODODOO(DOODOOO=8)

n 50 100 200
¢ 1.5 1.25 1.125
num. of cycles
DPOP 44 - -
DPOP+BT1 249 1188 4295
DPOP+BT?2 84 217 891
total size of UTIL messages

DPOP 235975 - -
DPOP+BT1 | 271246 | 963243 | 4713141
DPOP+BT2 | 250409 | 823191 | 4480157

oboobooboobooboobooboobobbooboobooboob

5.5.1 O0OOOOOOOOOOD DPOPODOO

goboboboboobbbbboodgoooooooobobs1rouooooood

obogs20000
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OOo0oOoooooboopbpOPODOODOOOOODOODOODOODODODOD
OoOs300UITLOO0O0O0O0ODO0ODO0O0O00DbL0ODO0O00ODbDOD 54000
gobooobooboouTiLobogobooobooboobobooboon
10°00000000000000000000000005.3000000000

bppOPOOODOOOOODOOOOODOS1IO0O0DOOOODODO200000000

5.5.2 UUULUOOLOOOOOOODLOOOO0

00000000000000000000000000000000000
000000000000000000000000000000000000
0000543000000000000000000000000000000
000000000000 000000000000000000000000
0000000000000000000000
000000000000000000000520 (ne)00000000
00000000000 {(25 1.5n), (50, 1.25n), (100, 1.125n)}, {(50, 1.5n),
(100, 1.25n), (200, 1.125n)} 000000000000 O00000 4, 8000
00000000O0O0O0DPOPO 54.1000 (DPOP+BT1)000 5.4.2000
(DPOP+BT2) 000000000
05500000000000004000005600000000000
0080000000000 D0DD000000O0DD0000000000000
0000 DPOPOOOOOODONDOOOOON DPOP+BT1,DPOP+BT20000
000000000000000000 DPOP+BT20 DPOP+BTIOO0O0O0

O0000O0000O00b0oO00bOuUTILOO00DODO0oO0obOoOOoobooobPOPO
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OO0 DPOP+BT1,DPOP+BT2000000000O0O0ODPOP+BT1,DPOP+BT2
gbobboobod.0000 agentview; DOODDODODOO0O0O0OO0OOOOOOOO0
gboooobboooobboodibbl aegentview; DOOO00OO0O0DOOOO

goboboooobboboooobbbooo

5.5.3 U0OOOOOOOOODOOO

gboobbuoooobobbbobbbouoooooobbobboooood
O0o0o0oobooooboogoo ., 2,4,6,80000000000000O0 UTIL
gogbuodbogbbogbogbsedbobbboobuodoboobobod
ooooboodooouTILbdobooboobooboboooboobooo
oboobbooobooboobobooboobbooboobbooboon
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